6:6 @ H addition de fractions ( fraction appropriée ) (

fraction impropre )

Nom: Date: Note:
I 1 5 3
4= R
> 3 2 8
5 3 3 2
4+ = R
6 6 7 4
6 5 4 4
—+ I = R
5 9 9 7
L7 4 7
4= RATT
7 6 6 2
5 7 7 92
4= Loz
2 9 279
5 7 6 5
Za = oL 2_
9 5 g 7
7.6 2 6
— 4~ = < 2
5 8 6 O
4 3 5 4
— 4+ = AT
6 2 g 8
6 7 6 3
— 4 = oL
8 4 9 4
5 1 3 7
T AT
4 3 4 3

www.snowmath.com



https://www.snowmath.com

é:é % addition de fractions ( fraction appropriée ) (

fraction impropre )

Nom: Date: Note:
1 1 2 5 3 23 7
4o == =200
5 5 5 2 8 8 8
5 3 4 1 3 2 13
I E A
6 6 3 3 7 4 14
6 5 79 34 4 4 64 1
—t == = —=1—
5 9 5 45 9 7 63 63
1 7 55 13 4 7 25 1
=== e
7 6 2 42 6 2 6 6
5 7 59 5 7 2 67 13
S+ -—==3= —+Z=—=3=
2 9 1 18 2 9 1 18
5 7 88 43 6 5 41 13
o= =1 —+l=_—=1—
9 5 5 45 8 7 8 28
7 6 43 3 2 6
-t —-=—=2— -+ =1
5 8 0 20 6 9
4 3 13 1 5 4 9 1
S+ IZ="=2- Z4-=2=1=
6 2 6 6 8 8 8 8
6 7 5 1 6 3 17 5
—+i=I=2= —+=_—=1=
8 4 2 2 9 4 12 12
5 1 19 7 3 7 37 1
o= —=1— 4= =3_
4 3 1 12 4 3 12 12
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